If Vijay_'s position in a row is 13 from the
front side and 6 from the back side, how
many persons are standing in that row ?

(A) 19 (B) 20
(C) 17 (D) 18
3-3+3-3..... 101 times =
(A) 3 (B) 0
(C) -3 (D) None of these

2000 soldiers in a fort had
enough food for 20 days. But

some soldiers were transferred to .g:t%n‘
another fort and the food lasted ’@%@

for 25 days. How many soldiers

were transferred ?

(A) 450 (B) 500

(C) 525 (D) 400

Find the missing character from the given
alternatives.

20160 4
? 4
8

480 J
96 | 24
(A) 1140 (B) 3240
(C) 2880 (D) 800

In 1955, S. R. Rao began excavation of
Harappan site at
(A) Kalibangan
(C) Dholavira

(B) Lothal
(D) Mohenjodaro

number of Police
Commissionerates in Haryana.
(A) 1 (B) 4
(C) 5 (D) 3

If the first half of the alphabet is written
in the reverse order, which of the following
will be the 19" letter from your right ?

CFMS - S2

1. of u fF o fors o o o A 13 S

A 62, MImifm i am e ?

(A) 19 (B) 20 . y
> (C]Cl'?’ (D) 18 ’/[_{:j
3-3+3-3%3. 1019 = =

(A)3 2% 44 (B) O
el (o) wa i
(3] ft & 2000 i & R 20 R 1 wafw

WIS Iqersy ®, AfhT Fo Afe! =1 T
Fh gEt vt W 9 R s @ iR @
25 &t 7o =t @ | fovem &t a1 wmmTaToT

rr T ?
(A) 450 (B) 500
- (C) 525 (D) 400
4. feumy famedi 8 9« R H Ia #+ |
20160 4
? 4
480 8
%9 | 29
(A) 1140 (B) 3240
(C) 2880 (D) 800
4 gégssﬁqa.m.uaﬁfémgsmwﬁ
& 6t oft 7
(A) TS (B) =ue
o (C) =TT (D) HETsieel
6. TfEmn ¥ gferw sgEae i wEm ©
(a) 1 (B) 4
(C) 5 (D) 3 OEGEY
w; LR
7. gfe quinren & Ugel 18 9 i I SR E

%A 1 forar s, 9 e ¥ 19 af qaw
I -H1 8 ?

D D) F " @D (D) F
Which of the following are called 8. frafufian & & fha dcfi-wawmwea & 7
sac-fungi ? (A) W‘W‘ﬁiﬂ (B) m
A) Ph t (B) Ascomycetes :
((C; Ba);ci:gir:%ifc:tses (D) Deuteromycetes () aferfeam gHieE (D) ﬂzﬂﬁﬁtﬁﬁa
Along with a computer’s [P address, 9. WY & ;. @H%W—mmfﬁm@'{'
another unique number given to ca_u::h T YT F I94m %ﬂ T 1'[?135 S
computer using Ethernet is something ST, i ¥ i
called the fﬂ,i N —
(A) Port number (B) MAC address (A) 9IE q=X (B) B ©3H
(C) URL address (D) Virtual address (C) 4. 9TR.UA. U8 (D) IgaTT T2H
2-
% 0o 96
% 6 8¢ A0 N ‘e e

=
7

9g8e

yg s

@
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What is the score obtained by Haryana

CFMS - 82

10, Ay amEm gro st vesh 3fem 225w 2020-21

i

10.
in SDG India Index 2020-21 released by A efEmon 1 T R A R ?
NITI Aayog ? ’
(A) 67 (B) 57 (A) 67 (B) 57
(C) 47 (D) None of the above /(O 47 (D) 39 & =hrg T
11. ‘The Council of Ministers’ of Central Govt. 11. g g 6 w=hafeeg Fad ¥
comes into existence only after a1e fFea o st B |
h ini :
(A) guil_lotfﬁzeMlmsters have taken the Oath A) G‘ﬁﬂﬁiﬁﬁ U — X
(B) The Pﬁfme Minister has taken the (B) TRt ¥ st Y yag <
QOath of office Tt &1 e
(C) Allocation of portfolios (©) . EBTE 8
(D) Winning the confidence of Parliament (D) HHE =T
12. CPU speed today is measured in 12‘:/ arrs ®.d g, o g AT 2 |
(A) Picohertz (B) Gigahertz (A) frreds B) TSt
(C) Gigabyte (D) Terabytes _ © frmaTge (D) AT
13. How much simple interest will ¥ 2,000 [ 13. 6% fead 1 = F 18 WEHI # ¥ 2,000 F
earn in 18 months at 6% per annum ? T ST fefen €6 7
(A) T216 (B) T 240 (A) 216 (B) ¥ 240
(C) X 180 (D) X120 (C) T 180 (D) T 120
14. In a row of 16 boys, when Prakash was ilq.} leagﬁsﬁ@dﬁﬂﬁmiﬁiﬂiﬂaﬂ'{
shifted by two places towards left, he amf@m CIGI a IgFT = a'ri @}r{é
bt.acame_'?“‘ fro.rr? the left end.-What was - ot g =T & Iﬂ%%ﬁtﬁiﬁ}f{ﬁm e
his earlier position from the right end of ?
the row ? T ST A | 5
(A) 7 (B) 10% (A) TEI (B) 10.‘.5”
(C) 9™ (D) 8= (C) 9dt (D) 8dl
15. How many districts are there in Haryana 15. g & efamn 3 e R § 7
at present ?
(A) 25 (B) 22
(A) 25 (B) 22 ,
(C) 20 (D) None of the above (C) 20 (D) ITgF H | IS T
16. IfC denotes “+, D denotes ', E denotes %’ | 16, 3R ' cauia e, x| D], “'HE
and F denotes </, then a-sﬁ?n% aﬂ'{ t_,a,ﬂ F'ﬁﬁ?ﬂ%, _Ch
(A) 3C1DB8E2F4=3 (A) 3C1D8E2F4=3
(B)3C1D8E2F4=4 (B]3C1D8E2F4=4
(C)3C1D8E2F4=0 [C)3C1D8E2F4=O
(D) None of these (D) 'ﬂﬁﬁ I8 &I
17. Ravi Kumar Dahiya won silver medal at Tokyo {l’ RiC| T e 3 A Aefuw 2020 o
Olympics 2020 in the weight classes of s & T 9 S 7 ERE
(A) Men’s 57 kg free style (A) w% 57 fera sht w=eTset %E\%EI
(B) Men'’s 65 kg free style (B) E’E‘ﬁ% 65 T H R
(C) Men’s 74 kg free style (C) Jdt & 74 T Y werga 3
(D) None of the above (D) 39 ¥ | g TE i
£ L !
(6w XK X
LM e £ Gr ) TREN £.6 10 o \J
7 < & XS oo
gl ) se@sa o H1=1514Y b g

£ %



18.

19.

20.

21.

22.

23.

24,

250

| Il .'["
i K\

e ?;rJ?:
Master plan of Chandigarh is analogous to
(A) Necklace (B) Bird
(C) Human body (D) Flower
Signal area of Wireless Repeater Antennae
at Tosham hill was
(A) Bhiwani (B) Fatehabad
(C) Sirsa (D) All of the above

Web Services mean the services
provided by

(A) E-mail Services

(B) World Wide Web

(C) File Transfer Protocol

(D) Hyper Text Transfer Protocol

Splitting of spectral lines i in the presence
of magnetic field is called

(A) Stark effect (B) Bohr effect
(C) Sommerfeld effect (D) Zeeman effect

is a language for publishing
hypermedia on the World Wide Web.

(A) Hypermedia (B) C

(C) C++ (D) HTML

Aunit equaling approximately one thousand
bytes (1024, to be exact) is called a

(A) Megabyte (B) Terabyte

(C) Gigabyte (D) Kilobyte

The first Women’s University of Haryana
is named after

(A) Swami Shraddhanand
(B) Swami Dayanand

(C) Bhagat Phool Singh
(D) Kalpana Chawla

Arrange the below words in a meaningful
and logical sequence.
1. Table
2. Tree
3. Wood
4. Seed
5. Plant
(A) 4,5, 2
€ 1,3,

T | ) 1
2,4,5 (D) 4

21,

22,

24.
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g AiTE AT hugeqd
(A) F3E (B) vaft
(C) 7T IiiK (D) R
drem e g arrer et A B a8
2
(A) forarh (B) ®dEHTR
() Rear (D) 3% aeft
= Fansit ar o FUEERIE EE iG]
Hamd # |
(A) 3-Tt Jamd
(B) 9¢8 A1EE A9

(Q) tﬁsamxﬂirﬁa
(D) TER IR ZEAF MFTeA

Wéﬁﬁmﬁlﬁﬁ@ﬁﬂi@@m
farfire B, FEAMIR |
() RETE (5) AW g
(C) THTHES W9 (D) SR wwTE
o8 AT AT @

SRR 1 YT Y 3 o v
e}

(A) Hypermedia (B) C

(C) C++ (D) HTML
T &R 152 (W 1024)%@111@3%&
— FEAmER

(A) g (B) &rmge

(C) Tfrremge (D) feirarge
m%mnﬁmﬁﬁm@mmm
T W TG TR 7

(A) T gwg

(B) @t T

(C) W %t fire

(D) e ST
aﬁ%ﬁqmﬂaﬁﬁmmaﬂtmmﬁ

e hifvg |

1. Table

2. Tree

3. Wood

4. Seed

S. Plant

(A) 4,5,2, 3, 1 (B) 1,2,3 4,5
€ 1,32 4,5 D) 4,5,3 2 1



If PAINT is coded as 74128 and EXCEL
is coded as 93596, then what will be the
code for ACCEPT ?

(A) 547978 (B) 735961

(C) 455978 (D) 554978

A man walks 30 meters towards South,
then turning to his right, he walks
30 meters, then turning to his left, he
walks 20 meters, again turning to his left,
he walks 30 meters. How far is he from his
starting point ?

(A) 20 meters (B) 50 meters

(C) 80 meters (D) 30 meters

From a group of 7 men and 6 women,
five persons are to be selected to form a
committee so that atleast 3 men are
there on the committee. In how

many ways can it be done ?

(A) 645 (B) 564

(C) 735 (D) 756

26.

27.

28.

29. Which interchange of signs will make the
following equation correct ?
35+7x5+5-6=24
(A) + and *

(C) - and +

(B) +and +
(D) +and -

A machine gun of mass 10 kg fires 20 g
bullets at the rate of 10 bullets per second
with a speed of 500 ms™. What force is
required to hold the machine gun in
position ?

30.

(A) 10N (B) 200 N
(C) 20 N (D) 100 N

31. A person crosses a 600 m long street in
5 minutes. What is his speed in km per
hour ?
(A) 8.4 (B) 10
(€C) 7.2 (D) 3.6

32. Choosethealternativewhichcloselyresembles

mirror image of the given combination.
TARAIN1014A
(A) APIOIVIIASIAT

(B) AIOIAMIASAAT

(C) AIOIPTASIAIN
(D) ARIOIVIIASIAL

g
B g 70
,ﬁ; 72 s &E;\_’_.
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~

26. TR PAINT &1 %2 74128 3 EXCEL #1 %2
93596 8, @ ACCEPT &1 %< F1 811 7
(A) 547978 (B) 735961
(C) 455978 (D) 554978

e oAfan it #t 3 30 Hiw =@ 8,
9 a1 g gT 30 Hiex = B, R amd ggan
2 af 20 e = B, f and gea @ 3l
30 Hiet Jerdl § | T8 9 e fag @ fore
R

(A) 20 HieT (B) 50 Hi&X

(C) 80 Hi (D) 30 Hi&X

7 e i1t 6 wikenail % W & uid St H
SR O T TS 7 T fohe ST R,
a1 3u affa o 0 & &9 3 TR © | ¥ foRe
i @ T ST g @ 7

(A) 645 (B) 564

(C) 735 (D) 756

z(ﬁmﬁaa?rm—aaaﬁmﬂmﬁ:rﬁ!ﬁm
gt 7
o5 X -t
3547 x545-6=24

(A) + 3T x _(B) + 3
(€) -3 (D) + 3R -

A 10 kg ITell U w3 T

500 ms™! #Hnfad 10 Tirett i S

) TR 20 g it Ml 0T 2 |

i T feufe 8§ @ & fo

FfsA a7

(A) 10 N (B) 200 N

(C) 20N (D) 100 N

wF et 5 fire 3 600 M Tt weH H IR

et S | Frrt wfe wer  SwEh =T fet @ 7
wee (A) 8.4 (B) 10

2 (0 72 D) a6

32, a8 fawe gRT S fg e FEs & 2o fafee

Afwem A fma |

TARAIN1014A

(A) APIOIVIIASIAT
B8] AIOIPMIASIAT

1€) AIOIMTASIAIV
(D) ARIOIVIASIAL

-+

30.

-~
31.

Mfgﬂ'f



33.

34,

36.

37.

Consider the following statements about

“Reading Mission” of Government of
Haryana,

I. The initiative was launched to
encourage reading habit among the
students of the State.

II. The Mission has been launched on
the lines of the Central Government's
‘Reading Mission 2022’, which aims
to address the lost glory of reading
books.

Choose the right option given below :

(A) Only the Statement II is correct

(B) Both the Statements I and II are
incorrect

(C) Both the Statements I and II are
correct

(D) Only the Statement I is correct

“WH 1270” is a new variety of which of the
following crops released by Chaudhary
Charan Singh Haryana Agricultural
University (CCSHAU), Hisar ?

(A) Wheat (B) Walnut

(C) Barley (D) None of the above

Fakhre Haryana Award is given for
(A) Haryanvi literature

(B) Sanskrit literature

(C) Urdu literature

(D) Hindi literature

E is the son of C. D is the

husband of C. B and G are the

only brother and daughter of D
respectively. F is the maternal

aunt of E and G. How is B related to E ?

(A) Nephew (B) Aunt

(C) Niece (D) Uncle

The strong magnetic field produced inside
a solenoid can be used to magnetise a
piece of magnetic material like soft iron
when placed inside the coil. The magnet
so formed is called as

(A) Electromagnet

(B) Permanent magnet

(C) Paramagnet

(D) Diamagnet

CFMS - s2

a8, wfaron s & “GfeT e’ & g
Freferfan o o famm =t |
1. T8 Y6 T 3 ererofai # g o) o
I Moo A & fre &l 77 of |
1. 7w P g e Qe Pt 2022
% wefirgt w3 fban an @, R a
T TG % @ R F HAEE § |
a3 ud feea i
(A) T FU 11 T R
(B) #u+ 1 3R 11 21 3t &
or2;lC) YA 1 30 11 3t wrew §
{B574D) Fae o 1w D

34] “wH 1270 et = T sfamn i
IR (cesHAU), feam gy st frsifrfa
Faet ¥ @ et 7 ey 2 7

(&) (B) @iz

(c) (D) 37 o ¥ A 7
sh~ T~ BRI qoahi % fog
Rarsman |

(A) TRETe T

(B) & wifeey

(C) R wifeey

(D) &3 wrfee
E,caﬂga%m,cwrwf?f%maﬁm,naa
P O 0 WS MG E | B, |tk g )
N I BHEY T Ean 2 7

35.

ge.

(A) wefrsr (B) =it

_~ (C) wdfisit (D) =TT

37. @Wﬁw%%ﬂmmwwmﬁ
RN SRR N
8 T FEeht & st e e 2 o
ﬁ%mm%mm% | $9 SR 99 o

___FEd§ |

(A) Foga g
(Bjmaﬁ
(C) wgEs
f&ﬁ%ﬁﬁ@%
te T‘*G\J:w




38.

41,

42.

43.

45.

Which among the following gas is
used for pre-slaughter anesthesia
of pigs ?

(A) Carbon dioxide

(B) Nitrous oxide

(C) Halothane

(D) Desflurane

One morning after sunrise, Suresh was
standing facing a pole. The shadow of
the pole fell exactly to his right. To which
direction was he facing ?

(A) West (B) Data inadequate
(C) South (D) East

Which enzyme present in the pancreatic

juice is responsible for breakdown of the
emulsified fat ?

(A) Lipase (B) Trypsin

(C) Lactase (D) Maltase
Musca domestica belongs to the class

(A) Dicotyledonae (B) Monocotyledonae
(C) Mammalia (D) Insecta

Who among the following is the Param
Vir Chakra awardee from Haryana ?
(A) Roop Chand

(B) Major Hoshiar Singh

(C) Hawaldar Lakhmi Chand

(D) Subedar Shivchand Ram

Direct recruitment of Haryana to various

gazetted and non-gazetted ranks in Police

Service shall be made through

(A) State Level Police Recruitment Board

(B) District Level Police Recruitment
Board

(C) Both (A) and (B)

(D) None of these

Bahadur Singh who won gold medal in
1978 and 1982 Asian games is an Indian
(A) Wrestler (B) Boxer

(C) Runner (D) Shot-putter
Haryana Armed Police has
battalions.

(A) 2 (B) 4

(€)1 (D) 5

Which of the following festival of Haryana

is celebrated after 6 days of Nav Samvatsar
Utsav and is known as Basoda festival ?
(A) Bhadliya Navami (B) Sili Sate

(C) Teej (D) Saloni
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Frferfn 3 & 7 -ah gt 35 12 @ o

Ed

wAfefirm & fore wam & s 2 7
[A)W@@:ﬂf‘ﬂ:ﬁg

(B) IHTFZS

(C) Fen

(D) &

39. UF Hae 1a, G uF @Y ) S gE
H0h @1 ¢ | @ F o 36 farge and ved
i Rmigearaat?

(A) ufeem (B) Hihe srmata 2
(C) feor (D)

40, STANE ™ ¥ FI-91 Gogy 9 8,
qraEieRd | % ggq % fore et R 7

misE (A) TS B) R

G (o) W (D) HTeeS

41, T SfRe ATl duefia @ ?

(A) Teerast (B) ThewwHt
(C) T (D)

42, Emn A PefRada PR Ts
e g ?

(A) ¥ =T
(B) #sR M fire
(C) ISR TEH! =T
(D) gean fira=e T

43. ghemon gfem dard i ueafia n ssmte
et e HHt o F mem /A
St =R |
(A) T=T Tl gferd vl |
{B]ﬁmwﬁﬂ%?‘ﬁaqﬁaﬁ
(€) (&) m%?

(D) ¥4 ¥ I3 TRl
a4, fire fFey 1978 3t 1982 Tl
ﬁﬁﬁmgﬁm%,@ﬂﬂ?ﬁﬁ
|
(A) TE@EH  (B) _
(C) uras® (D) H A

45, IO HIEA |
qTATA Bt € |
(A) 2 (B) 4
(C) 1 (D) 5

46. fr=fafaa ® | sfaon & $9-a1 wier
FAEFE I0qd F 6 A % w1g wow I @
af arEreT RN e @ ?

(A) weferan Tt (B) faei@e
(c) Tt (D) w@
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47,

48,

49,

50.

51.

52.

53.

54,

— prohibits gathering of four or
more people in a specified area.

(A) Section 144 of CrPC

(B) Section 144 of IPC

(C) Section 144 of CPC

(D) None of the above

Cats belongs to the family
(A) Canidae (B) Ovidae
(C) Felidae (D) Bovidae

Role and functions of Haryana Police
(A) To prevent and detect crime

(B) To preserve public order

(C) To protect life and property

(D) All of the above

The district of Haryana which recorded

lowest child population as per census
2011 is

(A) Panchkula
(C) Kurukshetra (D) Faridabad

The book published by Charles Darwin’s
marked as a landmark in the study of
evolution

(A) The Selfish Gene

(B) On the Origin of Species

(C) The Emperor of all Maladies
(D) Human Biology

(B) Mahendragarh

In a wireless network, the hub function is
performed by a wireless router, sometimes
called a

(A) Switch
(C) Modem

(B) Adapter

(D) Base station
You can use the keyboard
shortecut to select all files in a folder.

(A) Ctrl + Shift + B (B) Ctrl + S

(C) Ctrl + Shift + A (D) Ctrl + A
translate easy-to-understand

domain names into IP addresses,
(A) Internet Service Provider

(B) Domain Name Servers (DNS)
(C) Hosting Company

(D) IP Server

47.

48.

49,

50,

51.

52.

53.

54,
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o fafire g = sifr it
o O BN WA e R |
(A) Tt g diean Y um 144
(B) WRdg 22 wigen il uwT 144
(C) AT 2 wfeen 1 um 144
(D) e H & e e
fafeerat fra wfan @ geau @d § 7
(A) F (B)
(C) fere (D) =ifeh
gfarn gfer ) siften sk et
(A) YUY Y AT 3R ga7 Sy
(B) ST sg=en i qiwfEm @
(C) Sfam 3R weafyy ) e
(D) For ot
gl = 3% e et 2011 € SR %
STIRI LT T See Ahefaa 1 3
(A) g (B) HE=TG
(C) FH8 (D) HrRTaTT

(B}aﬁ:r'q'aﬁfsﬁqgﬁtﬁm

(C) & TP 3T 7 Aeretey

(D) TFA ST

TR FeTd T TRE T IAE e
m%mmm%,mﬂ—msﬂ FE

Srar g |
(B) 37T

(a) fe=
(C) wiew (D) ¥ VY=

tﬁm%aﬁmﬁmmmﬁ%%ﬁm
ﬁﬁémﬁwwwﬁnmmﬁl

(A) Ctrl + Shift + B (B) Ctrl + 8

(C) Ctrl + Shift + A (D) Ctrl + A

— T ® WY 9 Oy 2R T
1 3. 71 & smfea wan d |
(A) T2 &1 e

(B) S1H 71w welt (&0 7w )
(C) Bfeen st

(D) 3391, walt

oo

36



55.

56.

57.

58.

59.

60.

61.

The normal systolic pressure of the Human
Blood pressure is about

(A) 100 mm of Hg (B) 60 mm of Hg
(C) 120 mm of Hg (D) 80 mm of Hg

The symboal of the new Britain - the British flag

(A) O1d Glory (B) Union Jack

(C) Taegukgi (D) Maple leaf flag

Choose the correct option by considering

the two given statements to be true. _[g|:3(r:-;':;§-*[;
Pyt

S hdan
Eli&lﬁl

Statements :

1. Some teachers are students.
2. All students are girls.
Conclusions :

I. All teachers are girls.

II. Some girls are teacher.
[1I. Some girls are students.
V. All students are teachers.
(A) Only I, 11, III follow

(B) Only II and III follow

(C) All follow

(D) Only 1 follows

is the maximum number of bits
that a microprocessor can process at a
time.
(A) Memory size (B) Word size
(C) Clock speed (D) Data size
Which of the following Departments has
newly constituted in Haryana ?
(A) Chief Electrical Inspector
(B) Citizen Resources Information
(C) Food and Drug Administration
(D) None of the above

is a special type of memory that
works like both RAM and ROM.
(A) Register memory
(B) Secondary memory
(C) Flash memory
(D) Cache memory

The Separatist Movement of Quebecois is
related to

(A) Spain
(C) Canada

(B) Turkey
(D) Australia

55.

56.

57.

58.

59.

60.

61.

CFMS - S2

frafafas o @ F9-u1 aHa W F THE
T T § 7

(A) Hg &1 100 mm  (B) Hg % 60 mm
(C) Hg T 120 mm (D) Hg =l 80 mm
7u fsrea 1 et - forfew &=

() Fes @ (B) g S

(C) AT (D) ATt s wm

farg a2 el S g TG gY wel faed

FEAH |
o)

wYA
1. Fo e fanoff € |

2. ot fremeff wefFai € 1
forent .

1o e weferai g |

1. §© wgfHal e € |
HI. T wefhal faensi € |

rv. ot foreeff fvees F |

(A) T I, 11, 11T STFETT Fd &
(B) Faet 11 3 111 FAFERY Fd &
(C) Tft srET Fd &

(D) et 1 ST e &

_ focm & Aftrean v @, N w
TIEHIEET Ueh a1 # WEY T ¢ |

(A) TT FTAFR (B) & ol HATHR
(C) =St <t iy (D) 321 ATHR

e o Fr=fafaa # @ forg e favam 1 1=
gotr ?

(A) g forea Fdiers

(B) TTa WETEHi Y AT

(C) @TeT U iy yeEd

(D) 37 F & HIE T

_ uw fai v R AN R, St RAM
afk RoM 1 i T FH FA R |

(C) T A PN
[8] :[E]




62. Indian Government Agency responsible

for collecting and analysing crime data

(A) The National Crime Record Bureau

(B) Consumer Financial Protection
Bureau

(C) National Automated Finger Print
Identification System

(D) None of the above

A total of 324 coins of 20 paise and
25 paise make a sum of ¥ 71. The
number of 25 paise coins is

(A) 144 (B) 200

(C) 124 (D) 120

Kesra Ram has won the 2020 “Dhahan
Prize for Punjabi Literature” for his
anthology of short stories

(A) Zanani Paud (B) Rani Tatt

(C) Jakari (D) None of the above

63,

64,

65.

Ifa, b, c are non-zero, a + %= 1 and
b+ L =1, then the value of abc is
c
(B) 3

Bl
(D) -3 Eﬁ

Which of the following forest types majorly
found in the State of Haryana ?

(A) Subtropical dry deciduous forest
(B) Alpine forest

(C) Montane temperate forest

(D) None of the above

(A) -1
€)1

66,

1
67. Five years ago, Vinay's age was ?3- of the

age of Vikas and now Vinay’s age is
17 years. The present age of Vikas is
(B) 51 years
(D) 9 years

(A) 41 years
(C) 36 years

68. Jayesh is as much younger to Anil as

much he is older to Prashant. If the sum of
the ages of Anil anqg Prashant is 4Bd'ear.
then the age of Jayesh is Cn

(A) 24 years

(B) 30 years

(C) Can’t be determineg
(D) None of these

P

9
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62.

2.

68.

9 A

™,

S

65.

66.

67.

oM
) ,’;(C}ﬁmmmmm
ﬁm w8 FE T

CFMS - 82

VTl Feeret weieht it st stfewel 9 v
e 3R frvefa =0 o 3 3 -
(8) T s e s e
(B) Iuviret fereftar e =)
(C) T T=nfera swferemy geam woreh
(D) IF & & =g 7
20 8 3ii 25 44 % Fe1 324 Rl ) e
T71 R & T R, @ 25 4 F Rt A
wE et & 7
(A) 144 (B) 200
(C) 124 (D) 120
U TH I A7 g FEE ¥
HeheH ¥ 2020 F1 T T

fore e qeen” S 7
() S dg (B) T 2T
(C) STehTd (D) 39da & @ F1§ 7

M a, b, c TATEHE, a+%=l-‘ﬁl’(b+%:1
®, T abe F1 W e 8 7

(A) -1 (B) 3
(€)1 (D) -3

ahmmﬁﬁn%f@aﬁﬂﬁq—ﬂmﬁa
TS TSR § 7

(A) SRR Yy qofrelt

(B) T9TEH 9

(C) Tdelta it 39

(D) 3% & & =S 3

qhaﬁq#,ﬁmﬁwﬁrﬁmﬁm%%
o M o i o w17 2 | e
A g B

(A) 41 94 (B) 5134

(C) 36 a4 (D) 9o

w9 7 39 A /35 @ I R R v
@ aft ¥ | 7R e ofv wria 3w
48 94 R, T waw Y 3@ e & 7 .
(A) 24 7§ 30 H
920 A 7
(B) 30 3§ 2
? 1(?(3
2f 5(;




69.

70.

71.

A

72.
i

73.

74.

75.

76.

77.

If ZEBRA can be written as 2652181, how
can COBRA be written ?

(A) 31822151 (B) 1182153

(C) 3152181 (D) 302181

Limestone on decomposition
produces and
carbon-dioxide.

(A) Calcium oxide

(B) Calcium hydroxide

(C) Calcium hydrogen carbonate
(D) Calcium carbonate

A Mottoof Haryana Police

(A) Sadrakshnaya Khalanighrahanaya
(B) Paritranay Sadhunaam

(C) Sewa Suraksha Sahyog

(D) Seva hi Lakshya

In the first 10 overs of a cricket game, the
run rate was only 3.2. What should be
the run rate for the remaining 40 overs to
reach the target of 282 runs ?

(A) 6.5 B) 7

(C) 6.25 (D) 6.75

This famous king was known as Rai Pithora’
(A) Prithviraj Chauhan

(B) Jatwan

(C) Anangpal - II

(D) Mahipal

Who has been appointed as the Current
Chairperson of the Haryana Women
Development Corporation ?

(A) Babita Phogat (B) Neha Goyal

(C) Vinesh Phogat (D) None of the above

The type of mirror used by dentists to see
larger images of the teeth of patients is
(A) Convex
(C) Plane

(B) Plano-convex

(D) Cencave

Find the missing terms.
ab__db__da__dabdab __

(A) abab (B) caca

I€) ecce (D) none of these

Complete the series.
26, 12, 10, 16, ?

(A) 52

(C) 56

(B) 53
(D) 50
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3@;,@_’_

af ZEBRA # 2652181 foran s w1 2, A
COBRA = =1 fefan smum ?

(A) 31822151 (B) 1182153

(C) 3152181 (D) 302181
70. HTH T I FH T 3R
FEA-SEATFEES AR |
(A) FHfcATam ATFaTES
(B) FHIATIH TTEgIHETES
(C) FfcRmam HEE
(D)#ﬁmm
71. wion gferd w aTTel AT §
i Sl
(B)
(C) &aT gL FEam
(D) |aT & T8
72, TF FFbe ¥ Qe § TEd 10 R H T R Fd
3.2 o1 | 282 Wi ¥ 97 7 T & forg A9
40 3T 3 T Yo fraqar AT =fRY ?
(A) 6.5 B) 7
(C) 6.25 (D) 6.75
73. T8 Wi et H T e’ Fed §
(a) g S
(B) weat
(C) I - II
(D) HRIYTA
74, i wfeen fEm frm ¥ adae TwE &
w7 ol fgem R TR 7
(A) S B (B) @1 Ed
©) fAwwrme (D) 3T A 4 g T
75. UFE ¥ T =1 Fe1 fafena 3@ &
fore <0 fafraasl g v=ae o
ST aTeT 2T R YR HT T R 7
@'ffE.(A] 37 (B)
gEmic) s (D) ¥Ead
76. X TE T T |
dab¢db__da__dabdab__
(A) abab (B) caca
(C) cccec (D) T Q FE T
e o HH |
26, 12, 10, 16, ?.
(A) 52 (B) 53
(C) 56 (D) 50
I



81.

[ €

e
s
i'"j?:‘."f

Find out the wrong term among 105, 85,
60, 30, 0, - 45, -90.

(A) 85 (B) -45

(©) 60 (D) 0

The PK, of acetic acid and PK, of
ammonium hydroxide are 4.76

and 4.75 respectively. The pH of
ammonium acetate solution is
(A) 7.005 (B) 7.75
(C) 4.702 (D) 8.01

If + means x, - meang +, X means - and
tmeans +, then9+8+8-4x9=5

(A) 17 (B) 11
(C) 65 (D) 26

Consider the following Statements about
Indian Biological Data Centre (IBDC).
I. It is the first Nationa] repository for life
science data in India.

II. It is being established at the Regional
Centre of Biotechnology LL%B}.
Faridabad in collaboration with the
National Informatics Centre (NIC),
India.

Choose the right option Fiven below :

(A) Only the Statement I is correct

(B) Both the Statements I and [I are
incorrect

(C) Both the Statements I and II are
correct

(D) Only the Statement [ is correct

Six bells commence tolling together and toll
at intervals 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many
times do they toll together 7
(A) 10 (B) 4
(C) 15 (D) 16

Number of the triangles in the given

/

(A) 10 (B) 12
(C) 14 (D) 8
Find the missing number,

4.5, 18, 2.25, ?, 1.6875, 33,75
(A) 25.5 (B) 43
(C) 27 (D) 35

78.

80.

all

LS gf; 3o
\_I -) ra—

) T < 2° T30,
L, (’g)cjgfo CFMS=8§2

105, 85, 60, 30, 0, - 45, - 90 ATEA T I |

(A) 85
(C) 60 (D) O
e 3 1 pK, 3l s ErggTRaTzE 81
pK, F: 4.76 3N 4.75 ¥ | i iz
ﬁFWFfEFIpH%

(A) 7.005 (B) 7.75
(C) 4.702 (D) 8.01
ﬂﬁ+ﬂ¥ﬁx,—iﬁlw‘i&, x 1 379 - 3
+F G+ R, MO 84B24x0 =2

(A) 17 72 (@) 11
(C) 65 39 (D) 26
‘Wt e (IBDC) ¥ &R §
Fraferas s |

L. 7% W1 & Sfiafamm &1 wuw o B g |
1. T & Sashepfrh) 3z (RCB), Himamr

ﬂ@amﬁmm,m%mwfm
% wnfte R sy |

s Pl e
= (A) et o 1w 2

(B) F 1 3R 11 3 wrerq &
(C) T 1 3 11 3} et #
(D) e F99 [ W@ R

82, mﬁ@mmﬂaﬂ%hﬂﬁm:

2,4,6,8, 10 3k 12 ¥ F A R ER E |
3ofﬁ=|2ﬁﬁmﬁan%qmmaﬁ?r?
(A) 10

(B) -45 2




86.

87.

89.

90.

91.

92.

EjpeCe)

i
Calculate the efficiency of a Carnot engine
operating between 450 K and 300 K.

(A) 33.33% (B) 77.7%

(C) 26.67% (D) 66.66%

If a-b=3and a?+b? =29, find the value
of ab.

(A) 12 (B) 10

(C) 15 (D) 18

Complete the following analogy.

: State : ?
(B) Lieutenant
(D) Chief Minister

Country : President :
(A) State Minister
(C) Governor

The State of Haryana falls under which
of the following Agroclimatic Zones of the
country ?

(A) Upper Gangetic Plains Region

(B) Trans Gangetic Plains Region

(C) Lower Gangetic Plains Region

(D) None of the above

Panthera leo is

(A) Lion (B) Tiger

(C) Leopard (D) None of these
This district has the highest literacy rate

in Haryana as per census 2011
(A) Panchkula (B) Faridabad
(C) Gurugram (D) Bhiwani

Parole means

(A) Release of offender on bail

(B) Waiver of punishment

(C) Temporary release of prisoner
(D) Remission in punishment

Central Soil Salinity Research Institute
(CSSRI) in Haryana is situated at

(A) Karnal (B) Hisar

(C) Panipat (D) None of the above
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450 K 3R 300 K ¥ = qhefera €1 a1l 0%

FATZ T ) g h ToET R |

(A) 33.33% (B) 77.7%

(C) 26.67% (D) 66.66%

IR a—b=33Na? + b2 = 2908, A ab W AR

AR |

(A) 12 10 s

(©) 15 (D) 18 ac
=

Prfiriaa gwega g A | o

v uefa oA 7 \[

(A) T=awat (B) SfRe

(C) T=gaTe _pf geaw

N S

‘si)l

g T ST d 7

(A) F= i Bew o

(B) YR i AT &

() T itr Azt &=

(D) 3o & @ d Tl

o forat w R ?

(A) T (B) ¥

(C) g )ﬁﬁﬂﬂhﬂ
2011 H SFETVAT F ST gRa ¥ W Lok |:|
<1 TTE & aaii § iicpt
(A) TEEET (B) W

(C) TeIm () frrht
Neawadt

(A) STRTH 2 SR R

(B) TN ATH

(€) & aveard ferd

(D) e & farsem

o ¥ 3 TR AT AT T
(CSSRI) Aol f

(A) T B) fam

(C) THa (D) I7 & & wf Tl



93,

94.

9S.

926.

97.

98.

99,

100.

If =" means 4, 4’ means “’, ‘x' means
“" and +' means ‘%’ then which of the
following will be correct equation ?

(A) 304+ 5+14-10x15=292

(B) 30 x5-4+ 10+ 15 = 31

(C) 30-5+14+10x 15 = 162 —

(D) 10+5-14+ 10 x 15 = 158 [g%

an”._,
o

CFMS - g,

i a4+, + BT HATAT = 0
R o 7T ', R B
3 & - T G e ?

(A) 30+5+14,10x]5=22
B) A 5 =45 104 15 =231
(C) 30 -5+ 14+ 10 x 15 =162
(D] |0+5—'14+10x 15 =158

Freferfia i & -1 1 AT 7

Which among the following disease is an 94,

example of Zooanthroponosis ? IR 7

(A) Human TB (B) Rabies (A) HTE & (B) tTE

(C) Staphylococcosis (D) Brucellosis (C) Qq;rsr—ﬁ?ﬁiﬁﬁm (D)

Which of the following is the Nodal Agency 95. sf@mmd Frferfiaa = aFa-d = -
of the campaign ‘Beti Bachao-Beti Padhao’ ¥ geran’ s i et Tt 7

in Haryana ? i .

(A) Department of Health and Family (A) WRr&g g qiEr Eﬁ?qﬁlm ferm

Welfare gfee fa=amg faum
(B) Department of Women and Child (B) D_H m.
Dv::\«rf:lopmenl_tI % (C) AT §H1YH HATTH

(C) Ministry of Human Resource .

(D} Ministry of Information (D) 3T HATE

Functioning of Police with other agencies 96. 3‘%’{-{ =1 e wwmEs & 3= U_ﬁﬁﬂﬁ & Ty
of District Administration F B

(A) Settlement of land disputes (A) fyaet =1 Ay

(B) Any external aggressions (B) STET HATHHT
(C) Disturbance of the public o s

SRR (C) WA Wfe ST BF

(D) All of the above (D) I3 ot
This person is famously known as 97. ag e g & i) & Ay @ wfag R
Gandhi of Haryana :

(A) Lala Lajpat Rai (B) Mulchand Jain (A) TG (B) S A

(C) Devilal (D) Sir Chhotu Ram () <Hiere (D) T BT
g?f:;;i;te?w zefs::ntshal{tt:i; produced 98. fitwR fFu ;q =fa Bk

e Magistrate wi ‘ﬁﬂ'('ﬂﬁf@a e e ST =R |

hours. T

(A) 24 (B) 48 (A) 24 (B) 48

(C) 36 (D) 12 (€) 36 (D) 12

The Haryana Police comes under 99. &fmn yfewm e gEF

, Government of Haryana. it At R |

(A) Department of Finance (A) IELAE LI

(B) Department of Hnm.e Affairs.a (B) Eﬁ\m B

(C) Department of Public Relations (C) SHEaYy faum e

(D) Department of Social Welfare (D) ETIRT sheamoy fearm e
Nitrogefq ﬁ:fjng legume-bacteria is 100, H’Efﬁr—r Rt W-aﬁiﬁﬁ'ﬂ'l 2

(A) Rhizobium (B) Anabacter (A) Ty (B) AT

(C) Rhodospirillum (D) Plasmodium (C) U=tfery (D) R
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